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Question Number : 1 Question Id : 6760337650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The domain of the function

0 . S (”3] is
: S—axSa-5x "\ x+5

Options:

67603328071. L2 2

)
67603328072, L2 3

b
67603328073. \2 8

&3
67603328074, L2 4

Question Number : 1 Question Id : 6760337650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T /()= e .10g,,[“§]mm' ¢
V3-4xJ4-5x \x+5
Options :

B! E]
67603328071.L2 5

| 1
b | —
Ln | 4
—

67603328072.

>

2]
67603328073. .2 8

Bl
67603328074, L2 4

Question Number : 1 Question Id : 6760337650 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

il (domain)c):’jgf(x] J 4x 4- Sx

Options :

67603328071, L2 O
67603328072. L SJ

67603328073. ( 2 8 J

67603328074.



Question Number : 2 Question Id : 6760337651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If o, B € C are the distinct roots of the equation x* + lﬁ) x+2=0,then o' +p" is

equal to
Options :

67603328075. 16

67603328076, —16+/2

22

Lad

67603328077.

67603328078, —32V2

Question Number : 2 Question Id : 6760337651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e o, fe C TR x + (V2 )x+2=0 SR@TAE A o' +p! WRE

Options :

67603328075. 16

67603328076. —1 62

)

242

67603328077.

67603328078, —32/2



Question Number : 2 Question Id : 6760337651 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

=

J U (istinet roots) 1o AFL 37 +(V2) 1 +2=0 whle, co,BeC Sl

11 11
- £z L P . .- -
Options :

67603328075. 16

67603328076."]6“ﬁi
67603328077, 32v2

67603328078, —322

Question Number : 3 Question Id : 6760337652 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-
IfA=|a, a, a, | wherea) m,as, .... form a G.P. with common ratior > 1, then
& @ o

the entries in each column of A® from a G.P. with common ratio
Options :
67603328079.

67603328080. 1

67603328081, 1"



67603328082.

Question Number : 3 Question Id : 6760337652 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

a, a, da

A A=|a, a a,| T a, . a, ... GP HE 6D 96 U >1 8, AA’ S

a, a, d,
Y% WH & 3a9d G.P. H § orge! 91 3urd 8

Options:

67603328079.
67603328080, I
67603328081, 1~

67603328082, 1

Question Number : 3 Question Id : 6760337652 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
aq 4@ K

S (VY SN T e XL LI S— (i A=| s a5 4| f

a7 dg dg
81 L(column) (¥ f 2 £ A e r>1(common ratio) ot
o s b J/'""" Ku)uj L/;.L; G. P. (entries)

Options:



67603328079. I

67603328080. r2

67603328081. T

67603328082. 1o

Question Number : 4 Question Id : 6760337653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

If the system of linear equations
2x+3y-2z=0;2x-y+3z=0; Tx+Ay—z=0 has a non-zero solution (x, y, z), then

-

Xz ,
— is equal to
&
Options :

sl

67603328083. &

5
67603328084. 4

14

67603328085, 25

5

67603328086. 16

Question Number : 4 Question Id : 6760337653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1



afe Y griteo Ao

2x+3y-2z=0;2x-y+3z=0;7x+Ay—-z=0

1 U YRR 8 (x, y, 2), 8, I f; IR

Options :
-7

67603328083. 8

5
67603328084. 4

14

67603328085. 25

5

67603328086. 16

Question Number : 4 Question Id : 6760337653 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(system of linear equations) ¥ K ol L}'Jju..(/ﬁ
-~ (X, Y, Z): JP/EI/{: g 2X+3y_22:0; 2I—}’+3Z=0; 7,1;‘4-};)!—2:0

Options :

67603328083. &

3
67603328084, 4



14
67603328085, 25

d

—

67603328086. 16

Question Number : 5 Question Id : 6760337654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

1
The value of *C,, +) **C

r=l

0., 18 equal to

Options :

67603328087. ° 'C20
67603328088, " C20
67603328089, 2-7Cis

67603328090, "C19

Question Number : 5 Question Id : 6760337654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
“C,+ Y. Y C,,,, PTAM IR T

r=l)
Options :
67603328087, ' C20

67603328088. "C20

67603328089. 2-°C s



67603328090. ~'Ci9

Question Number : 5 Question Id : 6760337654 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

10
w 40 40+7
-{_J:L-:i ------------------ ed§ TG+ Y Clo+r
F=10
Options :
51
67603328087. C20
-50 b

67603328088. C20

45
676033280809. 2-7Gs

50 C
67603328090. 19

Question Number : 6 Question Id : 6760337655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If A is the sum of even terms and B that of odd terms in the G.P.

; A
g A9, 6.343. .. having 31 terms, then E is equal to

Options:
2/3(4'°-3")

67603328091, 47 —3"

4(4|{1 _3m)

67603328092, 4" —3"



4 (4|ﬁ o 3|5 )
67603328093, 43"

2\/5[4I5_315)

67603328094.  4'° -3'°

Question Number : 6 Question Id : 6760337655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe G.Pp.
8, 43,6, 3\/3....,FEE319e g

FUNTGFTAA q AT e HTATB &, @ % WR e

Options :

2\,@(4”’ _3m)

67603328091, 4" —=3"

4 (4“’1 _ 3|I5 ]
67603328092, 4 —3"

4(4Ii _3Ii)
67603328093, 4'° -3

2\6(415_315)

67603328004, 43"

Question Number : 6 Question Id : 6760337655 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

S SBA b S U (terms) 64 31 F U 8,44B,6,343, ........ G. P.

% e P ¥ U6l (0dd) 36 B sl & (sum) P (even terms)

Options :
2@(4I6 _316]

15 415
67603328091, 4~ —3

4(416“3]6)

15 15
67603328092. 4 =3

4(415_315)
_316

67603328093.

16
67603328094, 4 " =3

Question Number : 7 Question Id : 6760337656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Let g=f" and f(x)= _ . 0<x<1.Then g'(x) is equal to

3

TX

Options:

67603328095. [] E (f(”) )

1

67603328096. [] +He@) )



67603328097, | T (&)

3 3
67603328008, | + (/ (%))

Question Number : 7 Question Id : 6760337656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
g g= 77 T £7(x) = : —,0<x<1 §, Tl g'(x) SR E

1+ x

Options :
. : gyl
67603328095, ( +/() )

oy =1
67603328096, (] +(g(x) )

3
67603328097, | +(g(x))

67603328098, | + /()

Question Number : 7 Question Id : 6760337656 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

; 1 o
ié_ﬂglﬁ,:é .................. T‘,'qu,: lhf’(x}:“_‘r} J:jg:.f_] éu"/’
Options :

1=
(1+(f@))
67603328095.

67603328096.



(1+(2)) |

67603328007, 1 T (&)

67603328008, 1 T (/(x))

Question Number : 8 Question Id : 6760337657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If tangents are drawn from (0, 0) to the curve y = cosx, then the points of contact of
the tangents lie on the curve

Options:
2 2 23
67603328099, ¥ —JV =XV

2 2

67603328100, % TV =X

2 P O I
67603328101.FY —& =4V

67603328102, L+ % ) =(1-7)+*

Question Number : 8 Question Id : 6760337657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e a5 y = cosx W (0, 0) § T YETg Wi art €, & v eft & ¥k foig frm A &
P R E 7

Options :

67603328099, *° — ) =x"y’

67603328100, X +JV =x")"



¥ .l

67603328101. Y — % =X )

67603328102, (1% )" =(1-37 )’

Question Number : 8 Question Id : 6760337657 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
. Ju'.;i ;&f/ (tangents) JW' 7y = cos X (curve) U/:;. (0, D)lzﬁr'ﬁ
,gb i.& ¥ L}flu’( (points of contact) bl s H_.;u/

Options:

JE S
67603328099. ¥ —V =XV

2.3 293
67603328100, ¥ TV =XV

39
67603328101, -

o

(l +xz) 1«‘2 = (l— vz)xz
67603328102. :

Question Number : 9 Question Id : 6760337658 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If one ant is moving along the curve y = x* and the other stays at the point (0, 1), then

the shortest distance between the two ants is

Options :

67603328103. '-./5



Sl

67603328104, V2

67603328105. 1

V3

67603328106.

Question Number : 9 Question Id : 6760337658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR F T F TR, A A T y = F Y Y T9 @ T g fig
(0, ) RfRRRE ?

Options:

67603328103. \E

1

67603328104. \E

67603328105, |

-
V3

67603328106. 2

Question Number : 9 Question Id : 6760337658 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

£0,1) B Welr bt ve gl g i/
=G (shortest distance) b /H KU_L{'JJ & Ur}.ﬁ 7 ;‘%" 3:



Options :

67603328103. "6

1
67603328104. V2

67603328105. 1

V3

67603328106. 2

Question Number : 10 Question Id : 6760337659 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

-4 sin x + 5sin(2x)
6sin x—5sin(2x)

The integral _[ dx 1s equal to

(where C 1s a constant of integration)

Options :
X x
1 2sin 5 cos -
—x+—log, - = +C
3 : i % X
2sin—+cos
67603328107. 2 2
L X
SN — COS
1 7) .
-x+—log, + &
2 . 4 X
sin — + ¢os
67603328108. P. 2
. X X
1 2sIn = —COSs =
—%+ E]og{, - i C
2sin —4cos
676033281009. 2 Z




. J
1 51N ——CO0S-

—x+—log, 2
. ]
S1n — 4+ Cos
67603328110. =

= D | =

[

Question Number : 10 Question Id : 6760337659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

-4 sin x+ 5sin(2x) dy TR D

6sin x — 5sin(2x)

TG |

(8T C UH THTHET AR 8 )

Options :
T X
I 2sin — —¢os
-x+ 3 log, = - +C
2sIn — + Cos
67603328107. 2
I X
l SN ——Co0s
-X+ 5 log, . +C
. X X
SIn — <+ COs
67603328108. 2
- X
I 2sin — — COS
-x+—log, E 2 4C
i K X
2sin —+cos
67603328100. 2 2
— X
1 SIN——CoOs
—x+—log, e 2l
4 ok x
S11 + COs
67603328110. 2 2

Question Number : 10 Question Id : 6760337659 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

— 4sinx + 5sin(2x) g
.................. dx (i =
se4ld - 6sin x — 5sin(2x) % (tegral Jj

(-‘L (constant of integration) JL:J. UL:E‘ Cy LJL;F:)

Options :
. X
| 251N ——COS—
-x+—=1lo . B +C
es - - ~ )
2s8Iin— + cos —
67603328107.
. X X
1 Sin—— COs—
—X¥ > log, 2 2t c
- X
sin— + cos —
67603328108. 2
s g x
l 2sin—-— C{}S—i
-X + - log, E +C
2 X
2sin—+ cos —
67603328109. 2
oo b -
| smE - G{)SE
—-x + " log, . = +C
sin— + Cos —
67603328110, 2

Question Number : 11 Question Id : 6760337660 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
f(1-+)'a
_[::[l —f)'1L dx

The value of

5



Options :

67603328111, 21
67603328112, 20

67603328113. |

67603328114. 12

Question Number : 11 Question Id : 6760337660 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
1 5y

’[”I(I -X )1 dx e

[

Options:

67603328111. 21

67603328112. 20

67603328113. 13

67603328114, 12

Question Number : 11 Question Id : 6760337660 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

s s f;(l_x3)4 dx

; X _l'é (1 —x )3 dx

Options :

20
67603328111, 21

2|
67603328112. 20

12
67603328113. 13

13
67603328114. 12

Question Number : 12 Question Id : 6760337661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The solution of the differential equation,

? _vl=y which satisfies y(0) = 1, is
i3 y

Options :

67603328115, ¥ —y1=y" =0
67603328116, X ty1—-)" =0
67603328117, Y —V1—=x" =0



67603328118, 2X—\1-» =0

Question Number : 12 Question Id : 6760337661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

dx y
o1 gl foraes e y(0)= 18,8

Options :

—f1-3* =0
67603328115.* V! =V =

67603328116, X TV1- =0

67603328117. ¥ —Vl-x" =0

2—
67603328118, 2X—\l—=y" =0

Question Number : 12 Question Id : 6760337661 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

. i e
?;{:. JP K izl—J~ (differential equation) < /s~ dﬂ_j’

dx v
- e/ (satisﬁes)g’*‘h‘ f _1-'(0):1

Options :

67603328115, ~



4+ 41-3% =0
67603328116. F =

—Y1-x2 =0
67603328117. ¥ ~ V=X =

67603328118, 2X ~ V1= =0

Question Number : 13 Question Id : 6760337662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two vertices of a AABC are A(1, 1) and B(2, 3) and its area is 3 sq. units, then the
locus of the third vertex of such triangles which lie above the line AB, is

Options:

67603328119, 2x—y+5=10
67603328120 2x +ty—=5=0
67603328121, X~V —=7=0

67603328122 2x—y+7=0

Question Number : 13 Question Id : 6760337662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe TF AABC & & I A(1, 1) @41 B(2, 3) € 91 3991 &% 3 91 3515 @, ol U8
Brye, S ¥ AB & IR S, $ AR o @1 feguu @

Options:

67603328119, 2X — ¥ +5=0



67603328120, 2x Ty —35=10
67603328121, X~y —=71=0

67603328122. 2x —y +7=10

Question Number : 13 Question Id : 6760337662 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Cr 3.4 81l Ut (vertices) J1s9 B (2, 3) 1 A (1, 1) & A 4BC 2 Ji
LABB ALY L uile A (third vertex) S AL &k 2 e
B sl u( locus é s (lie above) b (!

Options :

67603328119. 2X —y +5=0
67603328120 2Xty—=5=0
67603328121, 2X—y—7=0

67603328122. 2X—y +7=0

Question Number : 14 Question Id : 6760337663 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The distance of the point (7. 1) from the focus of the parabola x* - 8x + 16y =0 is

Options :

67603328123. 4



67603328124. 5
67603328125. 6

67603328126. 8

Question Number : 14 Question Id : 6760337663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
RITT x> - 8x + 16y =0 AW AT (7, H B A B

Options :

67603328123. 4
67603328124. 5
67603328125. 6

67603328126. 8

Question Number : 14 Question Id : 6760337663 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Lol € (7, )5 < (focus) oL .1'2—8:-:+I6y={) (parabola) f

Options :

67603328123, 4



67603328124.
67603328125, 6

67603328126. 8

Question Number : 15 Question Id : 6760337664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the line ax + By =1 touches the ellipse a’x* + b*y* = 1, then the locus of the point

[E*E) is
22

Options:

1
67603328127. @° b° 2

% +_},J‘_1
67603328128. a~ b° 4
2 2
X };

1
67603328129. @’ b* 2

]
P P =
67603328130. 4

Question Number : 15 Question Id : 6760337664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ARG x4 by = | ST 2+ 1) = | P et e, A g [%

2 |

e

Options :



67603328127. ¢~ b° 2

1
67603328128. @ b° 4

T
x y 1
67603328129. a° b 2
22 .22 |1
ax +by =-—

67603328130.

Question Number : 15 Question Id : 6760337664 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

5 et/ ouch) U a5+ 557 =1 (llipse) §r% 0+ By =145 ]
_,,*i_ .................. i'—‘-’[flr"dllﬂcusi (%’%)

Options:
x° _1:2 1
A
67603328127, A~ b7 2
x? }}2 1
— e il
67603328128, a-~ b° 4

[t
o~
I
ta | —

67603328129. d

1
a*? + B2yt ==
4

67603328130.



Question Number : 16 Question Id : 6760337665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The image of the point (-1, 0, 0) in the plane, x — y + z + 3 = 0 lies on the plane

Options :

67603328131, 3Xx —3y—3z+7=0
67603328132, X =3y —=3z+4=10
67603328133, 60X —3y—3z+7=0

67603328134, 6x + 3y -3z +4 =10

Question Number : 16 Question Id : 6760337665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AT x —y + 2z + 3= 0 W& (-1, 0, 0) P71 ufafers Ao & I frg gHaa W &7

Options :
67603328131, X —3y—=3z+7=0
67603328132, 3x =3y —3z+4=0

67603328133, 0¥ 3y —3z+7=0

67603328134, 6x + 3y —3z+4 =0

Question Number : 16 Question Id : 6760337665 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



C/’J’ﬁ’{—df x=y+z+3=0 J#* (image) JEK (-1, 0, 0) &

Options :
67603328131, X =3y —=3z+7=0

67603328132, X — 3y —3z+4=0

67603328133, 0¥ —3y—3z+7=0

67603328134, 6x +3y—-3z+4=0

Question Number : 17 Question Id : 6760337666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Let x1, xa, ....., X» be n observations and let wi=b;+k(i=1,2,........, n), where k
and / (/ >0) are some constants. If the ordered pairs (mean, standard deviation) of x;’s

and w;’s are (48, 12) and (53, 15) respectively, then % equals

Options :

67603328135, — 4

67603328136. — 2

67603328137.

67603328138. 3

Question Number : 17 Question Id : 6760337666 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 1 D& X1, X2, oo Xp QAN AR Wi =l + k(i =1,2,........, 1), TR K TUTL (1> 0)
BI5 AR 1 T x's T w,'s & e QYT A fager & Hid T A (48, 12) T

(55,15) 8 @ %w%

Options :

67603328135, — 4

67603328136, — 2

3
67603328137. 2

4
67603328138. 3

Question Number : 17 Question Id : 6760337666 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(ordered pairs) =7 V( Wi gl %'s fl e J’q'pf: [(1>0) k& LU
(55, 15) 2! (48, 12) o ﬂ@ (mean, standard deviation) (k- n..ilf" Sikes)

k

_,‘:;' Ll £ -‘r' "T"‘:‘U.?

Options :

67603328135, — 4
67603328136, — 2

67603328137.



B2 | w2

4
67603328138. 3

Question Number : 18 Question Id : 6760337667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
If x, y and z are the lengths of the perpendiculars drawn from circumcentre of a

= : b -
A ABC to its sides BC, CA and AB respectively and Z- o, —=p, ‘- v, where a, b
X

y oz
- 5 I ; Japy .
and ¢ are the lengths of the sides BC, CA and AB respectively ; then is
o+p+y
equal to
Options :

67603328139, 3

67603328140. 6

67603328141. 12

67603328142. 18

Question Number : 18 Question Id : 6760337667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



afé T AABC & U= § 3@ Yasli BC, CA @1 AB TR STd ¢ AWl &1 gl
PO x, y @ 2 8 A Lo, 2=p, @ S=y ¥ ST 4=l BC, CA T AB
% ¥ z
S0Py
a+p+y

TS HA: ¢, h AT ¢ 8, ol WK ¢

Options :

67603328139. 3
67603328140, 6
67603328141. 12

67603328142. 18

Question Number : 18 Question Id : 6760337667 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

L AABC f; i JUJ (perpendiculars) })j...,;?ﬂL X, §, L
1 2 g{ AB »#BC, CA (W £ J! & circumcentre

,,;
5 g b
B et § AB AIBC, CA LWt .l by Ul %=a,;=ﬁ,§=v

Options :

67603328139. 3
67603328140. 6
67603328141, 12

67603328142. 18



Question Number : 19 Question Id : 6760337668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Let f(x)=sin [cot" {cns(tan" r)}] be a function defined on the real line. Then the

1
value of _f(—) s

e
Options:
n—e’

67603328143, 1" +2¢

67603328144.

67603328145.

7 e |
me
67603328146, T +2¢°

Question Number : 19 Question Id : 6760337668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T Jdfere 31 R IRUIYT ®e f(x) =sin [cot']{ms(lan" t)}] Hl ;‘[?] G2l

BIEE
Options :
TEE —L’:

67603328143, T +2¢°



° +e°
67603328144, V1 +2¢°

n’—¢°
67603328145, V21" —e€”
ﬂzej

67603328146, T + 2¢’

Question Number : 19 Question Id : 6760337668 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
o 77 (veal line) & Lf:f? ik (r) =sin [cnt_] {cas(lan_l ‘r)}] J‘ B é {f/;
- n
”;L' .................. hﬂ,‘{" Ur f{—) "T';
e

Options :

2 2
67603328143, T~ +2e

67603328144.

67603328145.

67603328146, T +2¢°



Question Number : 20 Question Id : 6760337669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Boolean expression (~pv q)(pv ~ q) is equivalent to
Options :

67603328147.P = 4
67603328148.9 = P
67603328149. (P => q) V (@ = p)

67603328150. (P = q) A (4 = p)

Question Number : 20 Question Id : 6760337669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
it ool (~ pvq)a(pv~q) ﬁ'ﬂﬂ'ﬂﬁﬂ%@?ﬂ%’?

Options :

67603328147. P — 4
67603328148. 9= P
67603328149. (P= @) v(q=1p)

67603328150. (P = @D A (g =p)

Question Number : 20 Question Id : 6760337669 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(equivalent) b+ ¥ (~pvg)a(pv~q) (Boolean expression) Jk ﬁ:}

Options :

67603328147. P = 4

67603328148. 9 = P

67603328140, (P =9) V(4= p)

67603328150, (P = ) A (9= D)

Mathematics Section B

Section Id : 676033291
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033293
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 6760337670 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The total number of solutions {(x* y)ix, y€ ]R}. for which the complex numbers
3+ ix%y and x% — y — 4i are conjugate of each other, is

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 6760337670 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

T gl {(x.y):x, y € R}.Wﬁ‘mﬁm‘r@m + ity QA% -y — 4i T QR B
gy gaweny

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 21 Question Id : 6760337670 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
LR — (total no. of solutions) s/ JJ’U{J {[»1 yhix y € ]R}
Lo 9! P y—4i 2 3+ix? y (complex numbers) »4/ ot 2L
-/ (conjugate) ».*4,-:?1(

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 6760337671 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

x-3 4x 4x
If | 4x x-3 4x | =3(Ax - B) (Ax + 3B), then (A + B) (A - B) is equal
4x 4x x-3

o

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 22 Question Id : 6760337671 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
=3 4x  4dx
ag | 4x x-3 4x | =3(Ax-B) (Ax + 3B2 & @ (A + B) (A - B) WK

4x 4x x-3
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 22 Question Id : 6760337671 Question Type : SA
Correct Marks : 4 Wrong Marks : 0
x—3 4x 4x
4x x-3 4x |=3(dx—B)(4x+3B)* /]
4x 4x x-3

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 6760337672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If A and B are respectively the coefficients of x'* and — In the expansion of
X

e ; ; :
[Zx —2—] and AB =k 2" ; where k 1s an odd integer, then m 1s equal to
=

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 23 Question Id : 6760337672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
pil]

e [zx—%]” S TR H XM au r—l” & TUIH HAL: A T4 B HR AB =k 2”8, Tl &
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 23 Question Id : 6760337672 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

| 20
JiBulA -7\ (coefficients) ...}'/c’: == sl 4 5 (ZX——IF) &4/
X

2x
SERVY.D Sy— meFe méfdﬂwk{uk AB=k2" 1l

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337673 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



The sum of the remainders when S =3 + 6 + 12 + ... + 3-2'% is divided by 3. 4, 5 and
6 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337673 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
S=3+6+12+ .. +329F3. 4,536 T fauicid o W 3T I9Bal BT T
g .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 24 Question Id : 6760337673 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 6760337674 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

) of
If for a real function f; f(1)=3 and f'(I)=1, then Iimﬁ is equal

= (x-1)

to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 25 Question Id : 6760337674 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

afe U arafa® wed f F W 7(1)=3 au1 /') =1 g @

_)[1.'—IJ'| _ .
i = f(x)
sl (I_' = I)

Response Type : Numeric

TR E

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Question Number : 25 Question Id : 6760337674 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
- f'(l)‘:] Il f(l):32. Lf (real function) J‘Lr: Jﬁf’ﬁ
x-1
o AL s lim 3‘5’(1 )“f(ff)

e x=1 (x—l]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

If the area of the region bounded by the curves, y=1+ — |2x-a |, x=-3,x =3,

D | —

y=0, where a€ (-3, 3), is 16 square units, then &’ is equal to
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337675 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

1 "
M y=1+ 5 12x-alx=-3,x=3qy=0,Wlae (-3, 3), g1 O &7 &1 &ma

16T 3P ¢, A > WeR & :



Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 26 Question Id : 6760337675 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

ixn L/fz;._;j Z,y:l+%|2x—a|,x:—3,x:3,y:0 (curves) f

.................. 2o ae(-33) LUg < JK! d’/ 16 . § (region bounded)

¥

- 44 il

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337676 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

If PA and PB are the tangents to the circle, x*+y* =13, drawn from a point

5

Response Type : Numeric

p[ﬁ %] and A and B are the points of contact, then (AB)" is equal to

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337676 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
afe fag P[%} '?J] YT« + )" =13, W T T8 WY @I PA TUTPB § G A 3R
B Uua fig &, ol (AB)® &R @ .

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 27 Question Id : 6760337676 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

: ; 15 139 o £
;L{ PB »sl PA (tangents) :}fn{ ¥ +yP=13/h e P(? ?j 5l
— (AB)(” < (¢ (points of contact) JWI1 b6 B sl AUV Ui £

-& 4l

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 28 Question Id : 6760337677 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

The distance of the point of intersection of the lines 2= :% and
from the plane 2x—-y+2z=7is

Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 6760337677 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

AT 2x-p+2z=7 @l — =2 == qqr

1 - 1
e :
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 28 Question Id : 6760337677 Question Type : SA

Correct Marks : 4 Wrong Marks : 0



Y el g% vl 2z
2 =2 -1 -1 1
SR oo e x-y+2z=T (plane) ($# b

Response Type : Numeric

§ (point of intersection) ) S L ?:

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337678 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

Let =2 - 7)- Ok, b=3+ 8+ 10k , c=fi+ J +k. Ifa vector ?7 is perpendicular
to both c: and f; };: =20, ;(:-;-k): 12, then *f" 1s equal to

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337678 Question Type : SA
Correct Marks : 4 Wrong Marks : 0

WAl a=2i-7]-9%, b=31+8]+10k T c =ti + j+k BI IR W IRW p, a T
b SNRAEE, p-c =207 p-(?—_}—fE):lz 2. TRE

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

100

Question Number : 29 Question Id : 6760337678 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

# —3 A A A = A A A = AN A v, &
M 2221779k 5 =31 487 +10k c =11+ j+k & S

-

= fA A A

s pli-j—k|=12

—
u.:f 0=

_‘; L
«p-c=20 ;rf,_; Jo E; 2! Q:; (vector)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 6760337679 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

Let S = {a €N | there exists \,p€Z such that Aa’ +pa+61=1}. If p is the
probability that a randomly selected 2-digit number is an element of S, then 48p is
equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText



Possible Answers :

100

Question Number : 30 Question Id : 6760337679 Question Type : SA

Correct Marks : 4 Wrong Marks : 0
oAl S={acN| \l,pecZ & 3iRq@ g, & Ao’ +pa+6i=1§} I @

TRfSEd: T TS 2-9@! B TN F S & TP 3999 g P! Wl p 8, @ 48p Wk &

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100

Question Number : 30 Question Id : 6760337679 Question Type : SA

Correct Marks : 4 Wrong Marks : 0

S ={a € N|there exists A, L € 7such that \a® + pa+6L=1) é;ﬁ/‘

-

SeSFL ¥ 89 2 m fi2 & oy e L8/
Y7 p— 48 p < - P (probability) J¢*!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

100



Aptitude Test

Section Id : 676033292
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033294
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6760337680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which temple complex is famous for its musical pillars ?

Options :
67603328161, Meenakshi Temple

67603328162, Brihadeshwara Temple

67603328163, Hampi

67603328164. Rameshwaram

Question Number : 31 Question Id : 6760337680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
= o ® @ R uREy d@iia e & fog ufee B o7
Options :

67603328161, AIFTEAT HfET

67603328162, JEGHT HiAT

67603328163. ]|

67603328164, THITTH

Question Number : 31 Question Id : 6760337680 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

< mﬁ’zglf-“{?fr eV s VS
Options :

u“{ v

67603328161, “4

67603328162, /4~ 1+l 4

67603328163 5

Ay
67603328164. r.

Question Number : 32 Question Id : 6760337681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following material is most suitable for parking areas ?
Options :

67603328165. Concrete
67603328166. Wood
67603328167, Marble

67603328168. Kota stone

Question Number : 32 Question Id : 6760337681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= ¥ ¥ BF °1 9 9ieT 8T % a0 g9y Sifte Iuged & ¢

Options :

67603328165, Wilche
67603328166, THS

67603328167, A&

67603328168, HIZT &M

Question Number : 32 Question Id : 6760337681 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e wrirmlic ord Lk BNSukzsie Ut

Options:

67603328165. i{ﬁ



N
67603328166. U;

67603328167. /" L

s

“¥ I
67603328168. /{ v

Question Number : 33 Question Id : 6760337682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who 1s known as ‘Queen of Curves’ in Architecture ?

Options :
67603328169, Jeanne Garg

67603328170. Jane Drew

67603328171, Jullia Morgan

67603328172. Z.aha Hadid

Question Number : 33 Question Id : 6760337682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e A o 5 ‘ad &1 TAY & B9 H o W@ &7
Options :

67603328169, S TN

67603328170, 11 159,



67603328171. ﬂﬁl T A

67603328172, =&l I

Question Number : 33 Question Id : 6760337682 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ve s rLZ: ‘L‘}f...;ru::(”ufc_, S
Options :

g F
676033281609. ""Ofdf

b
67603328170, 143 &

67603328171. L'/i"'mjﬁ

67603328172, 4# W)

Question Number : 34 Question Id : 6760337683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following Venn diagram correctly illustrates the relationship
among the class : Cement, Structure, Concrete ?

Options:

67603328173. @)



67603328174. @

67603328175.
67603328176. @

Question Number : 34 Question Id : 6760337683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 o ¥ BF WA s g, i, a9l % A ey & @l w9 H g
T 7

Options :

67603328173. @)
67603328174. @

67603328175.
67603328176. @

Question Number : 34 Question Id : 6760337683 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



S bW BL ot Ghet o Fews U st UG g

Options :

67603328173. @)
67603328174. @
67603328175.

67603328176. z

Question Number : 35 Question Id : 6760337684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Rings in a tree trunk represents -

Options :
67603328177. Defects
67603328178, Age

67603328179, Strength

67603328180. Weakness

Question Number : 35 Question Id : 6760337684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
uH U3 & o+ o for foew @t qerfar 7 7

Options:

67603328177. ai Al

67603328178, 13

67603328179. dichd

67603328180. HHAI

Question Number : 35 Question Id : 6760337684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ﬁ : 1 -
V1 "—-/’/L.‘?-*:‘,L"Jﬁ U’Kﬁ?’i-ﬁ e (Sl 230

Options :

A J' -
67603328177. d 4

67603328178. /

67603328179, =&

67603328180. S ’/

Question Number : 36 Question Id : 6760337685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Saint Gobin in Indian Market is known for which of the following product ?



Options :
67603328181. Wooden doors

67603328182, Glass
67603328183. Modular kitchens

67603328184. Wire cut bricks

Question Number : 36 Question Id : 6760337685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TR 9T 3 He M a5 9 g g & oo e w0 ® 7
Options:

67603328181, Wl & T

67603328182, &I

67603328183. ERR R

67603328184, AT HE 32

Question Number : 36 Question Id : 6760337685 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
B T ¢ ’(‘ L L20
?;T_.J!P"ch-é‘:/gu/d:;f;l;dvjﬁ{ U8 S 4

Options :

67603328181, 941442 Kdﬂ



&
67603328182, ~~=

S ok
67603328183, ¥ “4*

67603328184, (&%!) u’-i: 2

Question Number : 37 Question Id : 6760337686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Indian parliament building was designed by which Architect ?

Options :

67603328185. Herbert Baker
67603328186. B. V. Doshi

67603328187, Raj Rewal

67603328188, Sanjay Puri

Question Number : 37 Question Id : 6760337686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
R G698 999 %l wui@r fhe angfyedt ¥ aar off ?

Options:

67603328185, Bd< SHT

67603328186, 1. ar. TS



67603328187, TS (T

67603328188, T I

Question Number : 37 Question Id : 6760337686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

?'T"' Qb L—JL“"J&JU\L‘H{J& =y
Options:

67603328185. k& —

?+ Jiﬁ: e JL}’J(#JLf'—"-;‘fJ& {}LHFE

67603328186.
67603328187. ‘-Jii*’ cl

. z
67603328188, O =

Question Number : 38 Question Id : 6760337687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following material cannot be recycled ?

Options :
67603328189. ilass

67603328190. Terracota

67603328191. Steel



67603328192 Faper

Question Number : 38 Question Id : 6760337687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= F ¥ e o*g @B 9 e (Ramaea) & e s daar ?
Options :

67603328189, Bid
67603328190, XTI
67603328191, WIe

67603328192, T

Question Number : 38 Question Id : 6760337687 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

R E S I £z e A

Options :

& &
67603328189, ~~&

]
"3
67603328190. Lﬁ/”

&
67603328191. 'J:*/'

67603328192, 4§



Question Number : 39 Question Id : 6760337688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What is the size of conventional brick ?
Options :

67603328193. 230 mm x 115 mm = 70 mm

67603328194, 230 mm = 110 mm x 75 mm

67603328195. 230 mm x 115 mm = 75 mm

67603328196. 230 mm = 110 mm x 65 mm

Question Number : 39 Question Id : 6760337688 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
URUN® 3¢ B AR 7/ & § B a1 § 7

Options :
67603328193, 230 mm = 115 mm = 70 mm
67603328194. 230 mm = 110 mm = 75 mm

67603328195, 230 mm x 115 mm x 75 mm

67603328196, 230 mm = 110 mm = 65 mm

Question Number : 39 Question Id : 6760337688 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Ce bt St KU Gl

Options :

x

67603328193, 230 mm 115 mm x 70 mm

*

67603328194, 230 mm 110 mm x 75 mm

X

67603328195, 230 mm 115 mm = 75 mm

X

67603328196, 230 mm 110 mm = 70 mm

Question Number : 40 Question Id : 6760337689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following site listed as the 15t UNESCO world heritage site in
[ndia ?

Options:

67603328197. Bhimbetta Caves

67603328198, Ajanta Caves

67603328199, Jaipur City

67603328200, Hampi

Question Number : 40 Question Id : 6760337689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



1 9 & @ a1 W@ 9a § tean gl [Ovg aiE we § 7
Options :

67603328197 111 T @l J%1g

67603328198, 1! &l NEIL

67603328199, JTA3 L MET

67603328200, THT

Question Number : 40 Question Id : 6760337689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

(b G h) 2 36 du ONESCOV W8 o S ekt = U o
te e erdd

Options :

b
67603328197, &~ M
67603328198, &~ e

67603328199, £ /4 &

67603328200. 5

Question Number : 41 Question Id : 6760337690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following scale represents the enlargement scale ?



Options :

67603328201.1 : 2
67603328202.1 : 20
67603328203. 50 : 1

67603328204.1 : 1

Question Number : 41 Question Id : 6760337690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
=1 8 9§ &F ' fmEn, fowar & e @ gaiar 77

Options :

67603328201.1 : 2
67603328202. 1 : 20
67603328203.50 : 1

67603328204, 1 : 1

Question Number : 41 Question Id : 6760337690 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= LJJ‘(,.rE:', 1% e e U L_,J.!’E:, !
Options :

67603328201.1 : 2



67603328202. 1 : 20
67603328203. 50 : 1

67603328204, 1 : 1

Question Number : 42 Question Id : 6760337691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The Meerabai temple is located at which of the following fort ?

Options :

67603328205, Jaigarh fort

67603328206. Chittor fort

67603328207, Nahargarh fort

67603328208. Jhansi fort

Question Number : 42 Question Id : 6760337691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= 5 & fpm fobet o A dfer R 2 7
Options :

67603328205, STTG 1 fehetl

67603328206. SRIENC BET

67603328207, TET TG I Tebel



67603328208, Al T fehelT

Question Number : 42 Question Id : 6760337691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
- - -

o o -

Options :

B
67603328205. dole

- 5 P
67603328206, ~° J #>

- i = -
67603328207, 2 7I\¢

67603328208, 4 Kb‘)b’i?

Question Number : 43 Question Id : 6760337692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
First Architecture college in Asia is located in which city ?

Options:
67603328209, 10kyo

67603328210. Mumbai

67603328211. Lahore



67603328212, Shanghai

Question Number : 43 Question Id : 6760337692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ufdran § vewr angRied wiee e st ¥ Rug & 7
Options :

67603328209, 2iadl

67603328210. g é

67603328211. AT

67603328212, I lé

Question Number : 43 Question Id : 6760337692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Options :
B

67603328200. oy

"
67603328210. LSJ

67603328211, ¥ U

1 L
67603328212. d L""ﬁ



Question Number : 44 Question Id : 6760337693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
*Atal Tunnel” is located in which state of India ?
Options :

67603328213. Uttarakhand
67603328214. Jammu Kashmir
67603328215, Punjab

67603328216. Himachal Pradesh

Question Number : 44 Question Id : 6760337693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘3T 2 U & fhe g W Rem ¥ 7
Options :

67603328213, SAUETS
67603328214, T3 BT

67603328215, UaTE

67603328216, EHTId WR9T

Question Number : 44 Question Id : 6760337693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 94O, JKJ{_‘)L':"JJ;‘E ‘LF/J:”
Options :

b na
67603328213, 4Z1.71

-
67603328214, /{‘; Uss

67603328215. —

-
67603328216, J’{: S

Question Number : 45 Question Id : 6760337694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :

67603328217.

67603328218.




67603328219.

67603328220.

Question Number : 45 Question Id : 6760337694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D ey ¥ Uk 9% % U €99 1 fowmn mr ¥ 1 AR @ foan ¥ dwd gu, v e
P T APRA A § TEAH |

Options:

67603328217.

67603328218.

67603328219.



67603328220.

Question Number : 45 Question Id : 6760337694 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
(Ve HPEIBL 7 e §8hr (BN 3 ik 8 G )
\ g_v; Ev'/a..fLE] g

Options :

67603328217.

67603328218.

67603328219.

67603328220.



1

Question Number : 46 Question Id : 6760337695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct Top view from
the answer figures.

Options :

67603328221.

67603328222.

67603328223.

67603328224.




Question Number : 46 Question Id : 6760337695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D omfel ® U oG & Th €99 B e T ¥ | S W S €99, T Aphed
4§ wedi |

Options:

67603328221.

67603328222.

67603328223.

67603328224.




Question Number : 46 Question Id : 6760337695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

S o St B ¥ JTOUE (BT 2 Lt Pt

Options:

67603328221.

67603328222.

67603328223.

67603328224.

Question Number : 47 Question Id : 6760337696 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

i
g

Options :

67603328225 |

67603328226.

67603328227. |

67603328228 |

Question Number : 47 Question Id : 6760337696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

3D agfa § U a%] & UH 259 @ fowan wr | A% B fn A <wd gu 9@ e
P IO AR ¥ § @AY |

B
A

Options :

67603328225, |

67603328226.

&
&
£
&
#

67603328227. l

67603328228, |

Question Number : 47 Question Id : 6760337696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥e SpSuBL e § 86 (BN 2 it 19 St o
Gy L

e
g

i

Options :

67603328225. |

67603328226.

s
s
.
&
&

67603328227. |

67603328228. |

Question Number : 48 Question Id : 6760337697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

/

Options:

67603328229.

67603328230. |

67603328231.

67603328232.

Question Number : 48 Question Id : 6760337697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D gl ¥ UF % F TH €99 HI @ T E | AR H R ¥ d@d gu 6 2
F TR A F § gear |

Options:

67603328229.

67603328230. |

67603328231.

67603328232.

Question Number : 48 Question Id : 6760337697 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥ne SPEUBL 7 e § 05 (BN g Lt 1P 8m v
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Options:

67603328229.

67603328230. |

67603328231.

67603328232.

Question Number : 49 Question Id : 6760337698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct Top view from
the answer figures.

Options :

67603328233.

67603328234. /

67603328235. /

67603328236.

Question Number : 49 Question Id : 6760337698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options:

67603328233.

67603328234, /

67603328235. /

67603328236.

Question Number : 49 Question Id : 6760337698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603328233, /

67603328234, P

67603328235. /

67603328236.

Question Number : 50 Question Id : 6760337699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :

67603328237.

67603328238.

67603328239.

67603328240.



Question Number : 50 Question Id : 6760337699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D sty #, Th 96 ® TH 59 B fewmEn @y | A B fen ¥ g, W e
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Options :

67603328237.

67603328238.




67603328239.

67603328240.

Question Number : 50 Question Id : 6760337699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E¥vic PEUBL 7 §66 (BN 2 Lt sl o
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Options :

67603328237.



67603328238.

67603328239.

67603328240.

Question Number : 51 Question Id : 6760337700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options :



67603328241.

67603328242.

67603328243.

67603328244.

Question Number : 51 Question Id : 6760337700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

3D amgfer & U 9% % T 25y @l fewmr @ g | A @ feon § Ywd g, w6 e
® T ARl H ¥ GEE |

Options :



67603328241.

67603328242.

67603328243.

67603328244.

Question Number : 51 Question Id : 6760337700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

E¥uie SPuBL 7 e 868N g LIt i
¢ 6n Lol




Options :

67603328241.

67603328242.

67603328243.

67603328244.

Question Number : 52 Question Id : 6760337701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

Options:

67603328245, |

67603328246. |

67603328247. l

67603328248.

Question Number : 52 Question Id : 6760337701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ogit ¥ UH a% & UH €99 B @ T E | WX B 9 § @ 5, W e
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Options :

67603328245. l

67603328246 |

67603328247. |

67603328248.

Question Number : 52 Question Id : 6760337701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



E¥pie SPSUBL 7 e § 0 (BN g it P8 o
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Options:

67603328245, |

67603328246. I

67603328247. |

67603328248.

Question Number : 53 Question Id : 6760337702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view from
the answer figures.

—aii
.-—"

Options :

676033282409. L1

67603328250, L |

67603328251, L1

67603328252, | EE—

Question Number : 53 Question Id : 6760337702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D i H, T T & U £99 B @ T 7 | SHA e HUL €99, TAL G
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Options:

67603328249. | P

67603328250, L |

67603328251, L

67603328252, L 1

Question Number : 53 Question Id : 6760337702 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603328249. |

67603328250, L |

67603328251, L |

67603328252, I

Question Number : 54 Question Id : 6760337703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct L.H.S. view,
from the answer figures.

.—'"

LHS
Options :

|
67603328253.

I
67603328254,

]

67603328255.
67603328256. :|

Question Number : 54 Question Id : 6760337703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D ol ¥, T g b Th €97 1 fmmn mn ¥ | soen e ae @ 9e eed, S
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LHS
Options:

I
67603328253.

I
67603328254.

|

67603328255.
67603328256. ]

Question Number : 54 Question Id : 6760337703 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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LHS

Options :

|
67603328253.

|
67603328254,

I

67603328255.
67603328256. ]

Question Number : 55 Question Id : 6760337704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct top view from
the answer figures.

Options :

67603328257.

67603328258.

67603328259.

67603328260.

Question Number : 55 Question Id : 6760337704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D i ¥, TF g F T T B @ T | 6 Sl e (2 @) S
il ¥ ¥ vEEr |

Options :

67603328257.

67603328258.

67603328259.

67603328260.

Question Number : 55 Question Id : 6760337704 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603328257.

67603328258.

67603328259.

67603328260.

Question Number : 56 Question Id : 6760337705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The 3D figure shows the view of an object. Identify the correct view looking
in the direction of arrow from the answer figures.

N

Options :

67603328261.

67603328262.

67603328263.

67603328264.

Question Number : 56 Question Id : 6760337705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



3D e ¥, UF oG & UH €9 Bl @ T E | AR a6 fon ¥ dud g, vl e
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i

Options :

67603328261.

67603328262.

67603328263.

67603328264.

Question Number : 56 Question Id : 6760337705 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

67603328261.

67603328262.

67603328263.

67603328264.

Question Number : 57 Question Id : 6760337706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Three views (Front view, Left hand side view, Right hand side view) are given.
Combine them and Identify the correct 3-Dimensional view from the answer
figures.

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION

Options :

67603328265.

67603328266.

<
b
%

67603328268.



Question Number : 57 Question Id : 6760337706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

M 299 (F]Q 299, 9l % & £99, T A% @1 £99) 16U MU ¥ | gl fiengd
qo gEe wE BT gvg, IR amgiadl ¥ § wEErn |

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION

Options:

67603328265.

67603328266

67603328267. %

67603328268



Question Number : 57 Question Id : 6760337706 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
£ &edfs SUP (LUK LS Eel) Ut £ &) ufé
e ol Gl

FRONT LEFTSIDE  RIGHT SIDE
ELEVATION ELEVATION ELEVATION
Options:
67603328265.
67603328266.
67603328267.

67603328268.



Question Number : 58 Question Id : 6760337707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following answer figure shows the correct view of the 3-D image
unfold ?

Options :
_Il
NN
67603328269. L
.1

67603328270. l_l—

67603328271. L

67603328272. =



Question Number : 58 Question Id : 6760337707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frer Tox ampfotl § @ @9 &, 3-D epla & gen gon e Tvg fawh ¥ 7

Options:
-y
67603328269. L
]

67603328270. L—I_

67603328271. —

67603328272. - L

Question Number : 58 Question Id : 6760337707 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
Ea F I3
676033282609, L
| I ] I
| 1 1 |
| 1 [ |
67603328270. I_L‘
| | T
| | | | ]
67603328271. ||
| == T 1
] 1 ] 1 1
1 ——— |
67603328272. .=

Question Number : 59 Question Id : 6760337708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct mirror image of the problem
figure with respect to x-x ?

Ay

/R
Options :
67603328273.
67603328274.

iy iy

67603328275. |
67603328276.

Question Number : 59 Question Id : 6760337708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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!\}{

Options :

67603328273.

67603328275.

o,
e
g

67603328276.

Question Number : 59 Question Id : 6760337708 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A\

X
N/

Options :

67603328273. ! I

67603328274. i ;

67603328275. ' |

67603328276. | ;

Question Number : 60 Question Id : 6760337709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figures is the correct Mirror image of the problem
figure with respect to x-x ?

o~ T *
P
\/ \\)
\% /;/
wrrriririri
W
Options :
L
;/

67603328277 ANV >

IS AT A SIS

[N yd
67603328278, \ANNAANNAN

%
-~ o
\\\\ ////

67603328279.

LY
z
Z

N\

67603328280, \XANNNNNNNN

Question Number : 60 Question Id : 6760337709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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] T
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\/ \\/
\\\\ (///
11T
v X
Options :
L1

67603328277, DANNNWANNN

L

AN /]
67603328278, LN\\NNNNNNNAN

P
7
67603328279. SOV

L7

$
67603328280, BMANNNANNNNN

Question Number : 60 Question Id : 6760337709 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

/L1117
;’/

67603328277, AAWANANNA[ >

A P

pd
67603328278, AN

67603328279, LMNNNNNNNNN

LR
2
i

NN

67603328280, DN\ANANANNNNN

Question Number : 61 Question Id : 6760337710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure is the correct Mirror image of the problem
figure with respect to X-X ?

A X
v X
Options :
67603328281.
67603328282.
67603328283.
67603328284.

Question Number : 61 Question Id : 6760337710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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AX
v X
Options :
67603328281.
67603328282.
67603328283.
67603328284.

Question Number : 61 Question Id : 6760337710 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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M X
v X
Options :
67603328281.
67603328282.
67603328283.
67603328284.

Question Number : 62 Question Id : 6760337711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



One of the following answer figure is hidden in the problem figure in the same
size and direction. Select the correct one.

Options:

67603328285. @
67603328286. Q

67603328287. %
67603328288. G

Question Number : 62 Question Id : 6760337711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e % 9 U SOY fe 39l o aen foon o wed o o fvwr ganm € 1 W@ S @l
g |

Options :

67603328285. @

67603328286.



N

67603328287. %
67603328288. D

Question Number : 62 Question Id : 6760337711 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e 2@y 2e feryiatifae FUfe Ut ol

Options :

67603328285, @
67603328286. ll

67603328287. %
67603328288. Q

Question Number : 63 Question Id : 6760337712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
One of the following answer figure is hidden in the problem figure in the same
size and direction. Select the correct one.

Options :

67603328289. &

67603328290. E

67603328291. 6

67603328292.

Question Number : 63 Question Id : 6760337712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e o o w3 fom 36 e e fean F eA fow A fown gem @ 1 W ST @
g |

Options :

67603328289. &



67603328290. [
67603328291. @

67603328292. w

Question Number : 63 Question Id : 6760337712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e Doy S2e ferSiatylSre Ffe 2o

Options:

67603328289. &

67603328290. E

67603328291. 6

67603328292.

Question Number : 64 Question Id : 6760337713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

One of the following answer figures is hidden in the problem figure in the
same size and direction. Select the correct one.

Options :

67603328293.

67603328294. :

67603328295. :

67603328296.

Question Number : 64 Question Id : 6760337713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Frt & & & o fom o oM awn fen | wed fom A fow gen @ 1 W@ S A
g |

Options :

67603328293. U



67603328294. :

67603328295. :
67603328296. i

Question Number : 64 Question Id : 6760337713 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Se KPS 2 Lo Sinot I 2 FUfe Ly

Options:

67603328293.

67603328294. :

67603328295.

67603328296.



Question Number : 65 Question Id : 6760337714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
The problem figure shows the top view of an object. Identify the correct
elevation from the figures looking in the direction of arrow.

:

T

Options:

67603328297.

67603328298.

67603328299.

67603328300.




Question Number : 65 Question Id : 6760337714 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9T STH A TH I b HIU €99 HI @ T g | I A R F <@ 30, AW
il § ¥ W Tade™ (elevation) TEEI |

T

Options :

67603328297.

67603328298.

67603328299.

67603328300.

Question Number : 65 Question Id : 6760337714 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
SAEWEL 7 LW Sl § (BT) g T Ut 19 Jr b
¢ gy E-rul.'z'; K e

q

Options :

67603328297.

67603328298.

67603328299.

67603328300.

Question Number : 66 Question Id : 6760337715 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figures looking in the direction of arrow.

T

Options :

67603328301. |_U-A_\JJ\—‘
67603328302. w
67603328303.

67603328304. m

Question Number : 66 Question Id : 6760337715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



9T T UH T & Sl £ A femmn Mg ¥ | AR A fon f Twa o, A W
T S § T TG e |

T

Options :

67603328301.

67603328302.

67603328303.

HIEE

67603328304.

Question Number : 66 Question Id : 6760337715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&

2, J)’Jc)lﬁcif'-f_ Ly sl S

= [T v

¥ (L57) 2 LI 2 iy JJ’E s
¢ gv ga..fLEi KU

Options :

v
67603328301.
67603328302. w
67603328303.
67603328304. m

Question Number : 67 Question Id : 6760337716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the answer figure is the correct Mirror image of the problem
figure with respect to X-X ?

AX
VX
Options:
67603328305. :
67603328306. @
67603328307. :
67603328308. @

Question Number : 67 Question Id : 6760337716 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T AP H ¥ DA A APl 957 opia o X-X & qng § a9l uiares g 7

X

=

VX
Options :
67603328305. @
67603328306. @
67603328307. @
67603328308. @



Question Number : 67 Question Id : 6760337716 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fa ;r"h-u":u(;f‘jéfffﬁf;(:- o

Options :

67603328305.

67603328306.

67603328307.

67603328308.



Question Number : 68 Question Id : 6760337717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
“Shikara’ is a type of boat found mainly in lakes of city of the following states.
Options :

67603328309, Udaipur

67603328310, Jammu-Kashmir

67603328311. Kerala

67603328312, Manipur

Question Number : 68 Question Id : 6760337717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T e q@ W TE T, W@ P A @ e T @ e § ger w0 R el and
g7

Options :

67603328309, 54931
67603328310, T3 BT

67603328311, LA



67603328312. ! Igr

Question Number : 68 Question Id : 6760337717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

te Gt UM S S E 7 U

Options :

:
67603328300, “% <

&.-"
67603328310, A8 U

67603328311, ~ W/

67603328312, 2 i

Question Number : 69 Question Id : 6760337718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who amongst the following designed the ‘Ram Mandir® at Ayodhya ?
Options :
67603328313, Chandrakant Sompura

67603328314. Hafeez Contractor

67603328315, /Anant Raje



67603328316, Raza Kabul

Question Number : 69 Question Id : 6760337718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
= 5 | fpee sraien & U | @ w9 @ s ¢

Options :
67603328313, =PI i g

67603328314, &l AT EEIE[

67603328315, FF= Tl

67603328316, o1 DIgd

Question Number : 69 Question Id : 6760337718 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Ce b e S LK Loy
Options :

67603328313, Y b2

b rb‘ .
67603328314. /f / k@

67603328315, &= =1

67603328316. J”( o



Question Number : 70 Question Id : 6760337719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following group represent Primary colours ?
Options :

67603328317, White, Black, Grey

67603328318, Yiolet, Green, Orange

67603328319. Red. Blue. Yellow

67603328320, Red, Green, Black

Question Number : 70 Question Id : 6760337719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e & § &9 @ w9 qa it @ afamas ¥ 7
Options:

67603328317, TS, T, Tl

67603328318, ST, &L, T

67603328319, T, =@, dral

67603328320, @I, &1, Il

Question Number : 70 Question Id : 6760337719 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
e s’ufrd;y: ..,:.—:/LJ.}(:_, Ja !
Options :

(ol cad
67603328317, ¥/ P A&

67603328318. ’!/’ ‘ ‘-;y

676033283109. e <Lk ‘JU

67603328320, % /° “-J 4

Question Number : 71 Question Id : 6760337720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘Kedarnath® is located in which district of India ?
Options :

67603328321, Uttarkashi
67603328322. Uttarakhand
67603328323, Chamoli

67603328324, Rudraprayag

Question Number : 71 Question Id : 6760337720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g & e e o ‘her iy’ Reg & 7



Options :

67603328321, ST
67603328322, IAUETS
67603328323, THEI

67603328324, a9

Question Number : 71 Question Id : 6760337720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
8 uf/p:g_)fii ks S

Options :

F-3 y
67603328321, U 6171

b, bl
67603328322, #Z1.71
67603328323. dﬁ

p _
ol
67603328324, ™ LAY

Question Number : 72 Question Id : 6760337721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who 1s the Architect of *Virasat-e-Khalsa™ ?
Options :

67603328325. [. M. Pei



67603328326. Moshie Safdie

67603328327, Raj Rewal

67603328328. Bimal Patel

Question Number : 72 Question Id : 6760337721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
‘- t—aeEr % argied B9 3 7
Options :

67603328325, 5. TH. T.

67603328326, IS TRE!

67603328327, ST {aT™

67603328328, oW e

Question Number : 72 Question Id : 6760337721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
?‘&. b o sary “Uw/qraixgi,

Options:

i gt

67603328325.

67603328326, B4 0¥



67603328327. d'-ff" el

67603328328. ‘-J:-; '-J/

Question Number : 73 Question Id : 6760337722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Who was the Architect of famous *Glass Pyramid at the Louvre Paris’ ?

Options :
67603328329, Walter Groupius

67603328330. Charles Correa

67603328331. I. M. Pei

67603328332, - L. Wright

Question Number : 73 Question Id : 6760337722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

@rae 9@ (Louvre Paris) # wies ‘e Rais’ & angiyedl &F & ?
Options:

67603328329, et fira

e B

67603328330.

67603328331, O18. TH. U3



67603328332, B b U, {IE<

Question Number : 73 Question Id : 6760337722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
¥ &
i~ e § Pl g8 e KU

Options :
& 3 = b
67603328329. U’%’/ sl

U

67603328330. =

67603328331. d*.l: é . d |

."[ *
67603328332, =% S

Question Number : 74 Question Id : 6760337723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Match the following List-I with List-II.

List-I List-I1
A. Madhubani painting [.  Madhya Pradesh
B.  Shekhwati painting [I. Orissa
C. Pattuchitra painting [II. Bihar
D. Gond painting [V. Rajasthan

Options:



67603328333, A-[-_. H-]]. C-[V. I)-[[[

67603328334, A-III, B-IV, C-II, D-I
67603328335, A-II. B-III, C-IV, D-I

67603328336, A-1V. B-1, C-1I, D-III

Question Number : 74 Question Id : 6760337723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fret et -1 @t g1 @ T

Tl -1
(A) g dfe (I) = R
(B) st dfen (1) hfsen
(C) wghem dfez (IIT) e
(D) e Tz (IV) T
Options :

67603328333, A-1, B-II, C-IV, D-III

67603328334, A-1I1, B-IV, C-II, D-I

67603328335, A-IL. B-III, C-1V, D-I

67603328336. A-1V. B-1. C-1I, D-III

Question Number : 74 Question Id : 6760337723 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e - A L e -

II-erf I-ef

Pog wos (D S G A
i an e b B
(D) e 1 22 (C)

JE2L V) DA ))

Options :

67603328333, A-1, B-II. C-IV, D-III
67603328334, A-11I, B-1V, C-II, D-I
67603328335, A-1l, B-III. C-IV. D-I

67603328336, A-1V, B-I, C-II, D-III

Question Number : 75 Question Id : 6760337724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What do you understand by ‘Complementary colours™ ? Choose correct answer
amongst the following

Options :
67603328337, Mixing the primary colours.

67603328338. Colours next to each other on colour wheel.

67603328339, Colours opposite to each other on colour wheel.



67603328340, Mixing of secondary colours.

Question Number : 75 Question Id : 6760337724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e TN (Bl o) § o9 71 95 & 7 B § | 921 oaX g |
Options :

67603328337, T T T TS T

67603328338, {1 T UT TH TEL b OFT {0

67603328339, T b UX Teh GHY & §HA & L

67603328340, TIOT 1 @7 fager T

Question Number : 75 Question Id : 6760337724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ter AR édﬂ-u:d'?u;?ﬁlffk; uﬁ(dﬁ”ﬁ’)u&f

Options :

- TR
67603328337, 2 ¥ KUﬁ Ol

Ld“}&;/ﬁ:.guﬂﬂ.—c

67603328338.

LJML;/J:-QJ%L

67603328339.

-~ - # b_
67603328340, 24 Kuﬁ UJkE;



Question Number : 76 Question Id : 6760337725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Who worked with ‘Le-corbusier’ on Chandigarh planning among following
architects.

Options:

67603328341, C. P. Kukreja
67603328342, I L. Wright
67603328343, Stein Joseph

67603328344, Raj Rewal

Question Number : 76 Question Id : 6760337725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
et argfifeuat # & fpae @i @it § W BERC & W F fear ?
Options:

67603328341, SN WW
67603328342, . Td. {5

67603328343. EEI% SEICE?

67603328344, TS {dTe

Question Number : 76 Question Id : 6760337725 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UK AL S NS e Ok o S
Options :

NNy

67603328341. *

67603328342, =5 S

L
67603328343, =% (. |

67603328344, d{i" Cls

Question Number : 77 Question Id : 6760337726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

One of the following answer figure is hidden in the problem figure in same
size and direction. Select the correct one.

Options :

67603328345. E :
67603328346. ;
67603328347. &



67603328348. :

Question Number : 77 Question Id : 6760337726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Pt & § e SoX fo S oM aur R F v R o fow gan ¥ 1w S A
gHT |

Options :

67603328345.

67603328347.

I~
N\
N

67603328348.

Question Number : 77 Question Id : 6760337726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



‘e oWy 2e ferint§lSre Fofe Lo

Options:

67603328345.

67603328347.

I~
\
N

67603328348.

Question Number : 78 Question Id : 6760337727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
In the following question number of triangles are ?

Options :

67603328349. 13

67603328350. 19



67603328351. 20

67603328352, 21

Question Number : 78 Question Id : 6760337727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frer Ry & Pl o wem

Options :

67603328349, 15

67603328350. 19

67603328351, 20

67603328352, 21

Question Number : 78 Question Id : 6760337727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



eur (uf) e &t U

Options :

67603328349, 15

67603328350. 19

67603328351, 20

67603328352. 21

Question Number : 79 Question Id : 6760337728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figures looking in the direction of arrow.

Options:
p ML q
67603328353.

67603328354.




67603328355.

67603328356.

Question Number : 79 Question Id : 6760337728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Y9 T H U I & SUQ 99 @l femnn ¥ | Ok @ fan # <@ gm,
HEl TAISH (elevation) Hi I agiodl # ¥ Ay |

Options :

p (LN q
67603328353.

[ U=

67603328354.

67603328355.



67603328356.

Question Number : 79 Question Id : 6760337728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gKur; ».J)’Ju@cf-,f' tﬁL “U?'l_rbzﬁwlkﬂ L,f.pf (@ uguf;!‘;.;”r’w
?gkggkU§

Options:

p §Ri% q
67603328353.

N LS

67603328354.

67603328355.




67603328356.

Question Number : 80 Question Id : 6760337729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The problem figure shows the top view of an object. Identify the correct
elevation from the answer figure. Looking in the direction of arrow.

\V

T

Options :

67603328357, |

67603328358.

67603328359.

67603328360.




Question Number : 80 Question Id : 6760337729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9T P § TH a & HUU 29 B fe@wEn mn ¥ 9 & e ¥ @ 3w,
Wl TArsH (elevation) @l I agiadl ¥ & eanid |

\/

T

Options:

67603328357.

67603328358.

67603328359.

67603328360.




Question Number : 80 Question Id : 6760337729 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
e SPSEL g U ol Sl § (LB 3 Ul Ut o2 i 1
¢ gy "lf(uwj gKJ'

Options :

67603328357. |

67603328358.

67603328359.

67603328360.
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Section Id : 676033293
Section Number : 4

Section type: Offline
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Number of Questions : 2

Number of Questions to be attempted : 2

Section Marks : 100
Enable Mark as Answered Mark for Review and

Clear Response: ves
Sub-Section Number : 1
Sub-Section Id : 676033295
Question Shuffling Allowed : No

Question Number : 81 Question Id : 6760337730 Question Type : SUBJECTIVE

Correct Marks : 50



Prepare proportionate sketch of given image in space provided for the answer.
Students can use any black and white rendering technique.

OR

Create a composition by decoding image which will be aesthetically balanced.
Composition can be abstract or in any form. Student can compose decoded
Image in any shape.

Question Number : 81 Question Id : 6760337730 Question Type : SUBJECTIVE

Correct Marks : 50



T & ford 41 o H, ol 29 T ot emwiom waven aMd | B e ud §he
TR T @ T H G € |

CEEl|

< T wfer -8 FXh oA B Gt U dqfad o &g | T T o
4T Hedr § | B O @t R 0 ot § wEitd & @ad § |

Question Number : 81 Question Id : 6760337730 Question Type : SUBJECTIVE

Correct Marks : 50



LAl AL PSPt BT HE L iz
S B G LS G 4 sl o‘fJf:t,'-**

L
.u;; &bt f'a’ff;ﬁﬁdw-;v RAGE ) L:J}F;ug/ﬁ"f;r‘j

Question Number : 82 Question Id : 6760337731 Question Type : SUBJECTIVE

Correct Marks : 50

Create a composition of 4 triangles and 3 cubes of any sizes and render it by
using complementary colours in space provided for answer in answer-sheet.

OR

Draw a picture of farmers working in the field during crop cutting.

Question Number : 82 Question Id : 6760337731 Question Type : SUBJECTIVE

Correct Marks : 50



T & frd & o F, R o st & 4 Brpe wd 3 i % wEe @ @
F | T A T 9 & 0 @ Tl B A | B S T6E @l
&1 YA B G & |

HY

AW B3 % AT, f6E @ Wd § $M Bl g Th q@R Y |

Question Number : 82 Question Id : 6760337731 Question Type : SUBJECTIVE

Correct Marks : 50
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